EHREZLE-EEHGEIL

Al R FE RN

(F25Fd)[#EE]

. g B E H# % BOFE XK
g4 (F0) T b T b =R T T E R T b T et B R
ER254 qiﬁjzziﬁ BB E30) ER254 :FEJZZZ-LE e ET0N $EJZZE3E ERi24% KA |
EEILE 820 766 54 7.0 483 506 -23 -45 58.9 66.1 7.2
# A 54 47 7 14.9 52 36 16 44 .4 96.3 76.6 19.7
m R 147 134 13 9.7 92 95 -3 -3.2 62.6 70.9 -8.3
) PN 46 50 -4 -8.0 24 31 -7 -22.6 52.2 62.0 -9.8
M #& 90 81 9 111 70 84 -14 -16.7 77.8 103.7 -25.9
BRI EIR S 16 18 -2 -11.1 15 16 -1 —6.3 93.8 88.9 49
BwElIHLNED 467 436 31 71 230 244 -14 -5.7 49.3 96.0 —6.7
BEEGED 8,460 8,975 -515 -5.7 4,365 4,549 -184 -4.0 51.6 50.7 0.9
BAE 7,274 7,103 171 24 3,891 3,671 220 6.0 53.5 51.7 1.8
FENE 4163 3,893 270 6.9 2,136 1,842 294 16.0 51.3 47.3 40
ZD1th 3,111 3,210 -99 -3.1 1,755 1,829 =74 -4.0 56.4 57.0 -0.6
EEIER 637 861 -224 —-26.0 271 3717 -106 -28.1 42.5 43.8 -1.3
Vo1=<Y 391 824 -433 -52.5 161 422 —261 -61.8 41.2 51.2 -10.0
4 158 187 -29 -155 42 79 -37 -46.8 26.6 42.2 -15.6
mE ANEB
g4 (F0O) X A > F
T b T b IR 3R T T b 18 0k b 2R T T b B8 e bE 3R
TR 254 | ER24%F e =0 TR254%F | FR24%F e =0 TR 25%F | FR24%F T =0
BEIINE 329 323 6 1.9 274 269 5 1.9 55 54 1 1.9
# A 49 33 16 485 47 33 14 424 2 0 2 0.0
M B’ 111 94 17 18.1 85 65 20 30.8 26 29 -3 -10.3
) PN 23 22 1 45 20 20 0 0.0 3 2 1 50.0
R & 42 51 -9 -17.6 32 44 -12 -27.3 10 7 3 429
BB AR S 6 13 -7 -53.8 6 11 -5 -455 0 2 -2|  -100.0
HwElHLED 98 110 -12 -10.9 84 96 -12 -12.5 14 14 0 0.0
BEEGED 557 547 10 1.8 434 434 0 0.0 123 113 10 8.8
BAZL 444 390 54 13.8 359 336 23 6.8 85 54 31 57.4
FENR 194 154 40 26.0 162 129 33 25.6 32 25 7 28.0
ZDih 250 236 14 5.9 197 207 -10 -4.8 53 29 24 82.8
EEIERS 57 75 -18 -24.0 30 43 -13 -30.2 27 32 -5 -15.6
Vo1=<Y 31 53 -22 -415 21 29 -8 -27.6 10 24 -14 -58.3
ER, 25 29 -4 -13.8 24 26 -2 -7.7 1 3 -2 -66.7




